Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.1.dwg

203 Humble Ave.

San Antonio, TX 78225

STEVES AND SONS

1/4 LITE 3 LITE

DIRECT GLAZED FIBERGLASS DOOR

SINGLE
w/ or w/out SIDELITE(S)

INSWING/OUTSWING
"NON-IMPACT"

GENERAL NOTES

. This product has been evaluated and is in compliance with the 7th Edition (2020) Florida Building

Code (FBC) structural requirements excluding the "High Velocity Huricane Zone" (HVHZ).

2. Product anchors shall be as listed and spaced as shown on details. Anchor embedment to base
material shall be beyond wall dressing or stucco.
3. When used in areas requiring wind borne debris protection this product is required to be protected
with an impact resistant covering that complies with FBC Sections 1609.1.2 & R301.2.1.2 of the FBC.
4. For 2x stud framing construction, anchoring of these units shall be the same as that shown for 2x
buck masonry construction.
5. Site conditions that deviate from the details of this drawing require further engineering analysis by
a licensed engineer or registered architect.
TABLE OF CONTENTS
SHEET # | DESCRIPTION SHEET #
1 Typical Elevations, Design Pressures & General Notes 8 Horizontal & Vertical Cross Sections (1X Buck)
2 Door Panel Details 9 Horizontal & Vertical Cross Sections (Direct to Masonry)
3 Sidelite Panel Details 10 Vertical Cross Sections
4 Panel Options 11 Buck Anchoring
5 Elevations 12 Frame Anchoring & Hardware Details
6 Horizontal Cross Sections 13 Bill of Materials & Components
7 Horizontal & Vertical Cross Sections (2X Buck)

1/ 1 7 /17
4 4 4 W4 7
X 4 W4 1 7
X 1/

X

1/2 LITE 4 LITE 3/4 LITE 6 LITE FULL LITE 8 LITE

LEGACY CLEAR COLLECTION

w/ SIMULATED DIVIDED LITES

68.5" MAX.
OVERALL FRAME
WIDTH
' r // / //
S —_ / 4// /
g z ’
<3z <5
oz 93
> = <
<I < O X ® O
=2 25 °
hT QR
— L ;T
©s Suw
< =
oZ <C /
“L & J i /
CONTINUOUS HEAD & SILL

FULL LITE

X 37.5" x 81.5" K

68.5" x 81.5"

X0, OX, OXO

June 7, 2022

1n
o0
o}
.M
oM
z
__'l\
Lom
0N .o
E 0O
Z 050
<n.|n
= = .
4 00 o
32> 98z
%.1—
o
w & 8@ L
& ON -; 0
43 oo
32 23%¢
Lt Ep F0o
o (a]
Q%o _].Cl-l-l
a8 502
L' Dooo
2y
0
o c
E 6% §
3 T .
g Su
o Jo

STEVES & SONS
FIBERGLASS DOOR

PART OR ASSEMBLY:
TYPICAL ELEVATION, DESIGN

PRESSURES & GENERAL NOTES

PRODUCT:

BY

REVISIONS

NOJ DATE

DATE: 4/20/22

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL—41479.1

SHEET _1 oF 13

© 2022 R.W. BUILDING CONSULTANTS INC.



PEuERNE NN
L2 *17

v
Z
-
L

Z\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.1.dwg

2.4" -12" 2.4' S S,
05" —=f |=— EXTERIOR @@ — o5 S é\ ‘2&’,’ 0
S, o s 8
: =1L\ [T R S5y 8 AR
& s 4 S T =65 QX g: <L=Z o
] ) i ; e COMPOSITE S ZOi ST E5,
3 ikt Ll NI S CAP —0:5 2 TO3Y 555
5 R o RCSEEEE
Sl O SN i ' g oo SIEELE
7, \ 0, e
INTERIOR LATCH STILE P “, -
composiie  HINGE STILE LOCK BLOCK COMPOSITE 1OP RALL N 5 RSP
CAP (VL) /1" HORIZONTAL CROSS SECTION 19.75' LONG (Lvy) CAP i " 23 ox28
&, o [Ep £5y
= 0
qft %2 22&0
Qe v,
~1c 0
A le g2 §
FIBERGLASS SKIN —|fF 5 “v %" g1z tu
R s &
v
L/4
¥4
R
,‘. . “ N 2,” 2%
3575 MAX. DOOR 3575 MAX. DOOR AR 25 9
WIDTH WIDTH SINGLE LITE (8X) — 58| L
" ; 9-5/8' X 14-1/2' D.L.O. su |y S8
21" MAX. D.L.O. 21" MAX. D.L.O. a15 8
3 SElE
. B0
3 g
# =]
= e |E
y / ok EXTERIOR INTERIOR g £
% = “ D
m W >
< @ .
[Ye]
@ ——1 | &
/ / os 0
S f . T8 gl
¥ = o = ‘
(474 ; .
8 %9 X leltt %8 L 11 B & 0
Eg :E J; :S - // // LA, ‘e gz
e %0 / / S AP B @
% 83 <) ‘T 33 ’ ? T\ |
= 0 o
= ﬁj . ALY -
R \ LIl SN
/ / 2 . :
SEE HARDWARE / / N LN
TABLE ST
J (LATCH & A i FOAM CORE — [, . .} &
/ DEADBOLT) — (POLYURETHANE) SR - L
cwiksgr | LATCH:  SIGNATURE SERIES SR iz
DEADBOLT:  SIGNATURE SERIES (980) BOTTIOM RAL . —|E= 5 -
LATCH:  F51 REINFORCEMENT >
/ SCHLAGE | peapBoLT:  BSON LVL
E 2 ; SEE HARDWARE TABLE : (LvL) DATE 4,/20/22
(MULTIPOINT LOCK]) LATCH: PREMIUM HANDLESET i scAE:  N.T.S.
ROCKWELL | heADBOLT:  PREMIUM DEADBOLT Bo(ggmfff“ ' oWe. Bv:  RW
FIBERGLASS DOOR PANEL : -
40 i’ﬁiﬁgmss DOOR PANEL 40 )5 ted Divided Lites PREMIUM MULTIPOINT HANDLESET _ ck. B:  LFS
it ROCKWELL w/ DEADLOCKING TONGUE 7”2\ VERTICAL CROSS SECTION DRAVFfﬁG :0;479 1
FIBERGLASS DOOR SKIN: MIN. 0.08" THK. MULTIPOINT LOCK \2/ :
CORE MATERIAL: POLYURETHANE FOAM SHEET 2 OF 13

© 2022 R.W. BUILDING CONSULTANTS INC.



1.2 — . ) %,
0.5" 08" G1)G2 490’"/ &
5 ~ EXTERIOR w6z 3
? | g: <:Z N
= H Z: ol
o L COMPOSITE % LGOSl so%
= CAP S SRS L2
‘ \ ‘ ») \\‘\ é S92
" I N -
A INTERIOR | w sRe g
comPosTE 1y STIE REINFORCEMENT 1 8. 0589
CAP (VL) o BE, Z8,°
- [a]
| B B 5% =265k
1"\ HORIZONTAL CROSS SECTION N
3 SE o
N ! il 5
TOP RAIL | s R
12" REINFORCEMENT { —
GLASS BITE | (LVL) L
1t S £ ] o~
175" MAX. PANEL . 13.875'PANEL INTERIOR 1"OA THICK GLASS =
WIDTH =\ 118" TEMPERED GLASS el 28 9
5875'MAX.DLO. |, | SINGLE LITE (4X) i |~ DECORATIVE INSERT 2| wx
WIDTH 5.875"'X 14-1/2'D.L.O. GLAING <# '» " * N % FIBERGLASS SKIN Sv | 'E.E
D w/ FALSE MUNTINS COMPOUND ™"~ '\ > AIR SPACE w2 |3 8
S B 1 /8" TEMPERED GLASS g |8 P2
EXTERIOR o nug &
ALUMINUM SPACER 5 % |z
/// ! J A N 2 (e}
/ / e
/ GLAZING DETAIL EXTERIOR ) INTERIOR 2 g
C ) Full Lite Y
T :
T /
50 \3/| IV / 2 @@
T S GLASS BITE
2230 of INTERIOR — 1" OVERALL GLASS THK.
e 2 | || /
25 SE | ||/ . |, 1/8' TEMPERED GLASS GRS z
32 - N FOAM CORE - T o
~ .o/ T~ 2 v |
P A AR SPACE " g
7 o ™ \1/8" TEMPERED GLASS N
. EXTERIOR
/ ALUMINUM SPACER
GLAZING BOTTOMRAL  |B= 1
COMPOUND vy ~— [ N b L
@ GLAZING DETAIL - o <
Simulated Divided Lites '
) COMPOSITE — | e
CAP DATE: 4/20/22
scAE:  N.T.S.
50 FIBERGLASS SIDELITE PANEL (& FIBERGLASS SIDELITE PANEL m VERTICAL CROSS SECTION DWG. BY:  RW
Full Lite Simulated Divided Lites W CHEC. B LFS
DRAWING NO.:
FIBERGLASS SKIN: 0.08" MIN. THK. FL—41479.1
FOAM CORE: POLYURETHANE - 1.9 PCF MIN.) SHEET 3 oF 13

Z\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.1.dwg

© 2022 R.W. BUILDING DONSULTANTS INC.



TON] SINVLITINSNGD SONIGTNE "M'e 2202 @

c186 ‘ON Ansibey 3dgd _
LBLB'BG9'TLE 'ON euoyd SNOISIAZY
S6GEC 4 'OHIDA ‘OSZ Xo8 ‘O'd \§ SNOILJO T3Nvd A8 enzomey PV B R P I
. . . N oy v |
" —0_7____ | mww_wh_:mzoo oNIaINg @ Tanassy 90 Lavd > m x|y m i
\ /7 - L3
////% -.—.(..Q.Os@.%\\\ 60bSH "ON I'd 4000 SSY19434i4 ﬁ -4 $ 3 4_
///%....,...oﬁoﬁ.... 7, IPIUSS "4 uopuA] SNOS % S3AILS w JElEle |
~ : . .... \V\>m paiodeid sjuelLUnNoOQg 10NQ0¥d m M W W W - m
I 5= TZ0T °L dung e —
Ixi ¥ s
T ' eovevoN *U&
L . g o~
\\ Qc. .c- J,
\\\\ &%.o.&@ﬂ’oo..ﬂ) ///lt
7, ®aease N
Z, \\\\szom W////
Ny
X = w
= =
- ™~ AN =
///: m ~ AN u
) rel o
e
Wl
" L
///// Sx el . M m
w — = s o
X e e . m =~ S . e —Ilnll
d wad
3 =
T -
Z =
Ol
o]
L)
O|5
|
W (72 ]
» Q|8 =
— - ~ W
~ ~ |~ = Q2 = —
~ ~ ~ E gl Q _._uw/ . . i L
- WM = >~
9 Q| = >
>~| 3 %
— W
PAV g ~—
o| =
(1N}
el
L
[ L1l
X % Jur m
) <r
-—...—IL N % “
/// //r” u RN [ —-“
o~ ol
- Q
—
LLI
= =
o o
w |
~ L
E =
4 el
- NS
—

BMP'L'627L-14\M0202) 6.1 Lp-Td\sBumeIq - D\STIYAS ADVOIT 6.L7LP-T14\s|erosddy 1onpoid epuold - Y\IUSUBULIRG - SUOS PUB SBASIS\SIUBIID\Z



— "ONJ SAINVLAINSNDG SNISUNE “M'Y 2202
€186 'ON Ansibey 3dad SNOISIAZY
L616°659°CL8 "ON @uoyd F -
S6GEE T4 'OOUIDA ‘0T Xog “O'd \SU SNOILYAT T3 A8 S Ju|z|@| o w_
,md__ ..m»zﬁ._:mzoo ONIaTINg g. ENISSY S0 1vd W/ e s
\ 1 N Z N
W 1y 2
SN2 WNoze,,, 60bey “ON “Tg ¥00d SSY1943gl A glgle T o)
R ...b..QEO.N.%:..&J %, PIYDS "4 UopUA] SNOS % S3AdLS SAElTINIER g
< & . *s Va7 148 peundesd sjuswnoog 110NAaoNd M M m W m M

TTOT ‘L oung

ELEVATION
0) (0]

(2°Y 4N
10 A0

(1Y 30
10 A 10
ELEVATION
XO /0OX

i (P

oo ow
o
RIS RS z| O
h alll _lo) QRZ
x - SRE
- 3l 2
! O - m
L/ <
P

FOVWI AIJOHAINW

ELEVATION
X

BmMp'L 6.LrLy-14\0202) 6.7 Ly-1d\sBuImeIq - D\SIYAS ADVDIT 6L LY~ T4\s|eAoiddy 10npoid ePLIOLS - Y\IUSUBWIR - SUOS pue SaA3)S\SIUSIID\Z



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.1.dwg

NOTES:
1. Sidelite assembly screws located @ 3" & 19" from
each end of mullion {4 total.
2. Moulding secured w/ 16 GA. X 1" brad
nails located 1" from ends & 6" 0.c. max.

SEENOIE1

\\

I/

SEE NOTE 2
(TYP.)

m HORIZONTAL CROSS SECTION
w Outswing shown {Inswing similar)

INTERIOR

EXTERIOR

SEENOITE1

N\

N

(40) (34)12

/" 2"\ HORIZONTAL CROSS SECTION
w Qutswing shown (Inswing similar)

\
\\\\
W\
S
\\ &‘c )
g Q-‘ 0
A 1]
:S-‘g; .9
=XI: Q"
= O “En
z W, ) .5"2
R\ Y Z 80;8
-~ ol < T
7, =9 .
// " i D(Q o)
%, D ? Kz
‘7 Z 0w
AN © 2
Mgt 88 .3
o oy O'Oi
v U O §Z o
S E. ZRLE
o )] o -]
a £O 5 .cu
gAY 592f
Q"2 adaok
[=F ) LI.:
s
Qi3 v .
El3 cu
Sia 2al
wn wn
20 =
o0 10
nha =E
vy 2=
89 |5 SH
03 |8 §
Wy L O(“g
Qﬁ 7 Ee)
7L RS
5 % |g
2 o
S E
& x
>..
n
v
=
O
0
o
o
o
z
i3]
wl |5
= ]<
< I
38| |3
5]
3 Zz
ol |o
zZ 0
4]
DATE: 4,/20/22 z
[s]
scale:  N.T.S. 4
3
DWG. BY: RW o
cHK. BY:  LFS 3
DRAWING NO.- z
FL—-41479.1 N
o
SHEET 6 oF 13 o




1174 MIN. 2
EMB. (TYP.) Yo',
| ’ ASERE:
ST BIZIZ L,
1 ba y &= oM
S . OI5'CSINK LGOSL g5
Lo (TYP) DS 2 La°
s o " * @\\ Ho5og
’ L,\ \\\\ a >. ,F.S <
. , N & B @D
4 ON-®
. - x o 8"
4 B \\\{\\\\\\\\\\\\ !.N_I.E.R.L_O_R_ :g g (o] Z [+
PR ) £8 9% 2w
Toe - @ o~ 8% 3 o. .lo: %
: : I <+ (i N T
ST Kfe v,
. . Ap a (\“ gg §
FN T o T
V 513 cu
4 ba A // = 2o %
, . ° ~
NN
a4 N~ ko)
15, ] / ?:é
‘b‘,." i . gm
. : 2] o ><
N @ﬁ 33| =
) EXTERIOR 39 |3 92
1-1/4" MIN. o S ¥ nS |2 22
EMB. (TYP.) @ 25 S0 13 50
Y Hug g Q0
/1" HORIZONTAL CROSS SECTION (/2" HORIZONTAL CROSS SECTION EXTERIOR INTERIOR o = . P2 1< 2o
7 / Shown w/ 2X Buck 7 / Shownw/ 2X Buck A\ Y © 3 S| S
Qutswing shown {Inswing similar) Outswing shown {Inswing similar) 2 =5
(“4 "\ VERTICAL CROSS SECTION g |z
7 /Shownw/2XBuck
Outswing shown {Inswing similar) >
- o r; v L V. \
£ - v e
; - . Vb 9
SEENOTE 1 g o
INTERIOR '_® e
33
-—(©) =g
—
p
ﬁ L S
L | Z
EXTERIOR )( R DATE: 4,/20/22
NOTES: SEE NOTE 2 s " souk  N.T.S.
1. Sidelite assembly screws located 4" from each (TYP) o iV EXTERIOR INTERIOR DWG. BY:  RW
end plus 4 more equally spaced along jamb (6 total). ) - 1-1/4" MIN. 1\ oK. B LFS
2. Moulding secured w/ 16 GA. X 1" brad nails m HORIZONTAL CROSS SECTION EMB. (TYP.) /5\ VERTICAL CROSS SECTION DRAWING NO.:
located 1" from ends & 6" 0.c. max. FL—41479.1
. . . 7 / Shownw/ 2X Buck 7 /Shownw/2XBuck =~ .
3. Anchor @ head is not required for single door (X) only. Outswing shown (Inswing similar) Outswing shown {Inswing similar)

SHEET _/_ oF 13

Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.1.dwg

© 2022 R.W. BUILDING BCONSULTANTS INC.



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.1.dwg

©)

NOTES:

1. Sidelite assembly screws located 4" from each
end plus 4 more equally spaced along jamb (6 total}.

ARALLLLRRRANY

A
v
L9
S

< .

v

Wa

1-1/4" MIN. }‘D

EMB. (TYP.)

INTERIOR

EXTERIOR

/"1 \ HORIZONTAL CROSS SECTION

Shown w/ 1X Buck

Outswing shown {Inswing similar)

2. Moulding secured w/ 16 GA. X 1" brad nails
located 1" from ends & 4" 0.c. max.

3. Anchor @ head is not required for single door {X} only.

SEENOTE 3

EXTERIOR

W

INTERIOR

/ 4\ VERTICAL CROSS SECTION

1-1/4" MIN.
EMSB. (TYP.)

m HORIZONTAL CROSS SECTION

Shown w/ 1X Buck
Outswing shown (inswing similar)

SEENOTE 1

INTERIOR

A

EXTERIOR " e

@ SEENOITE 2 Xk

(TYP.)

1-1/4" MIN.
EMB. (TYP.)

7”3\ HORIZONTAL CROSS SECTION

8 / Shownw/ 1X Buck
QOutswing shown (Inswing similar)

Shown w/ 1X Buck
Outswing shown {Inswing similar)

EXTERIOR

A\Y

/\@

INTERIOR

7”5\ VERTICAL CROSS SECTION

8

Shown w/ 1X Buck

Outswing shown (inswing similar)

June 7, 2022

% o
W= 0
e = 2
:<:_u".'\
&8y 5%
o'\\ﬂ oM
'Q\Zo y O
. > <2
DS 5359 .
KN J D® o
Y 27mwZ
3\\\ 23w
\ 5§ 8@ L
&, SN2
bS] O XZ0
3 E z 8
s Eo S My
2 co Q .cw
° 9y 502k
& "¢ Do
2 h
[ []
o
E 5% §
3 U .
g gu
& 2o e%
=
25
S@
=
28 | =x
o0 =
e8| =2
Q0 |5 B2
0 e
nI |19 =
Lt 2 =0
Se |h 2u
fne PH} mgm
U')@ < Em
*6 (T SW
35 o IQ
A [V
g & °
& 5
>—
m
"
z
O
2]
ol
o
d
z
o
L Z
[ L4
< i
g |3
7
ol |o
=z Q
{8
DATE: 4/20/22 |z
[a]
SCALE:  N.T.S. d
pu
DWG. BY: RW @
cHK. BY: ~ LFS 3
DRAWING NO.: z
FL—41479.1 g
[N]
©

SHEET _8 oF 13




1-1/4" MIN.
EMB. (TYP.)

/"1 "\ HORIZONTAL CROSS SECTION

w Shown Direct to Masonry
Outswing shown {Inswing similar)

NOTES:
1. Sidelite assembly screws located 4" from each

end plus 4 more equally spaced along jamb (6 total).

2. Moulding secured w/ 16 GA. X 1" brad nails
jocated 1" from ends & " 0.C. max.

3. Anchor @ head is not required for single door {X) only.

INTERIOR

EXTERIOR

SEENOTE 3

1-1/4" MIN.
EMB. {TYP.)

e
. » &
[N .
! T s -

P

o [

/" 2"\ HORIZONTAL CROSS SECTION

EXTERIOR INTERIOR
A\
1-1/4" MIN. /4 "\ VERTICAL CROSS SECTION
EMB. {TYP.) ¢ / Shown Direct to Masonry

Outswing shown {Inswing similar)

Shown Direct to Masonry
Qutswing shown (Inswing similar)

June 7, 2022

P.O. Box 230, Valrico, FL 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

RECT TO MASONRY)

STEVES & SONS
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:
SECTIONS

BY HORIZONTA(LD’& VERTICAL CROSS

1-1/4" MIN.
EMS. (TYP.)

SEENOTE 1

\\

EXTERIOR X/

T , A\

NOJ DATE

SEENOTE 2 .
(TYP) LA /5 "\ VERTICAL CROSS SECTION
9 / Shown Direct fo Masonry
1-1/4" MIN. Outswing shown (Inswing similar)
EMB. (TYP.)

m HORIZONTAL CROSS SECTION

9 / Shown Direct o Masonry
Outswing shown {Inswing similar)

OATE: 4/20/22

SCALE:  N.T.S.

DWG. B:  RW

CHK. BY: LFS

DRAWING NO.:
FL—-41479.1

SHEET _9 oF 13

ZA\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.1.dwg

FBPE Registry No. 9813

REVISIONS

© 2022 R.W. BUILDING CONSULTANTS INC.



TON| SLNVLINSNGOG aNIaiimng "m's 2202 @

€186 ‘ON Ansiboy Jdad SNOISIATY
L616°659°CL8 "ON suoud SNOILO3S 8 3IVA_[ON] o - ™
S6SEE T4 ‘OoMIDA ‘OfZ Xog ‘O'd § SS0H9 "OILYIA NG| =] o 1_
‘ONL 'SINVITNSNOD ONIdTIng K KTaNISsY 50 1uvd N
//a J<z \\\ N .. zv |0
W 0, 'y . epe 4000 SSY194381d p g N
/////quarmwaﬁww.\.@% 7, apIaGes 4 LopuAT SNOS % SIAILS ME BlEl L)L
* b h'4
> & . Dﬂ\:ﬂm pospdeld sjusuwinsog <10Naodd SI81815 W &

TT0T ‘L sung

INTERIOR

\\

A\

®

/ 4"\ VERTICAL CROSS SECTION

W Outswing Threshold

EXTERIOR

("dAL) "gwW3
NIW ./ 1-L

INTERIOR

\\

/ 2"\ VERTICAL CROSS SECTION

W Outswing Threshold

EXTERIOR

('dAL) "awWa
‘NIW F/1-1

EXTERIOR

2

/"3 "\ VERTICAL CROSS SECTION

W Inswing Threshold

INTERIOR

P )SEENOTE 1

('dAL) "aW3
NIW #/1-1

EXTERIOR

»

71"\ VERTICAL CROSS SECTION

W Inswing Threshold

INTERIOR

®

('dAL) ‘g3
"NIW /L=

1. Anchor @ sill is not required for single door {X} only.

Note:

BMPL 6.1 L-14\0202) 620 Lp-TH\sBUIMEIQ - D\SIYES ADVDT 6L7LY-14\s[er0iddy 1onpoid Bl - Y\IUBUBWIR - SUOS pue SBABIS\SIUIDNZ



TON] SINVLTINSNGTO sNIiagung

‘MY 2202 O

(Eigesatie o sioud — .
GBSET T4 ‘OdMIDA ‘0CZ Xog ‘O'd \§ ONIYOHONY X2Nd Ad dlvd ON S wi=|P m.u w_
w_a__ _mkzﬁ._:mzoo oNIaTINg @v XTaN3SsY 40 Luvd WM = Qs
W 14, S R
//t/%& J(ZO\Q\\\\\ 80¥SH 'ON 'I'd 4000 SSV1943414 V Bl E M Aw. 1_
l///o ....&.D.—m—.@.ﬂ.u«...% \\\ IPILYDS "4 UOpUAT] SNOS % SIAILS g M sl - Rl
I/.” -t .... ¥~ :Ag pespdeld spuewnsog :12NaoNd SI81813 m %
; = 2T0T ‘L sunf
¥ :
. BOVEPON ..m
“\ o.oo ..o. ,”
” *e * >
Gy S
\\\\ s:cm ////
T
(Al (dAL) XYW
—— _.Tl dAlL 00,91
« ——V
o 1 1 1 1
= -
a
o. 5. o3 W
E % Q= O
o -
£ F L & s
R auis/n £
S P e
e | | | ] R
-c ?.w 3 ... 1... ..4.¢ . . ¢.v., ..,.- . o L. -..w
i qc." l... ...c. ‘-4 i 3 w-.v ...., (2 n ..c :
aall - (dAL) "X¥W
— _t|| mw 00,91
D.H "
g | . | . Q
£ | t f f f 1 <
v ™
g T o
<
< - xI
CS » = vnw m
N Q A 3 <
B : AN v
T o~ v -
R 3 =
. . ><
B [ | | | s ~N
* i 4w v qt. o X m.v.....q - %q ‘-
. B - -y ......‘...... ; ] ...u...a‘v. a y Bl
“ g
(dAL) XYW
* D091
] 1 1 1
A — ..- q
S i x|
ol "o,
o) E N
=
- P -
e / o
] ] 1 =
M.m«a. 4“ .~ . ¢._ S
. »Y . [+
o PRSI 3 R ol -z
RS . i . O
[%s]
<
=

BMP'L 6.7 LY-14\0202) 6L1Ly-TA\sBumMeIq - D\STIYIS ADVDTT 6.7 L-T14\s[er01ddy 1onpoid ePUO|d - Y\IUBUBWLIBG - SUOS PUB SIARIS\SIUSID\Z



ZA\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.1.dwg

FRAME CORNERS ATTACHED W/ (3) 7/16" %K a5y 4 \\\\\u X /,,
CROWN X 1-1/2' LONG 16 GA. STAPLES & (2) 35X 420 GA, STEEL PLATE ATIACHED 10 S Ny ¥
#7 X 2" DRYWALL SCREWS @ HEAD & SILL (TYP.) MULLION BACK OF LOCK JAMB w/ {4) 1" CROWN X AL Q%
£ (TYP) — o 5/8'LONG 16 GA. STAPLES 39 X
¢ 6 (WP) ——f  |=— ' = SSy AEERE
(TYP) } ] =0 g: <=Z
} ] = = o & g ] Lon
R i ] X FoSZz 838
—_ | E— SEE HINGE AL SPT 30
’ X v DETAIL a o %, e e \\\ = g 0o
} o - O ’ s X o pomZz
. T o (TYp) 2. f Su 7y, W 2550
_ (Dmeuck || g B 2X BUCK _ 33 z% ] 32 N 8R %
- in T ™
IXBUCK 1XBUCK 55 Eﬁ'f = s 3%, Z28.¢
- b~ . 5 3’ 0
DIRECT TO DIRECT TO 28 * o 5C° & g §59 dg 5k
— MASONRY || —— — MASONRY — — = N 2 * Q"% Boal
| JAMBS HEAD & JAMBS ® \ml 1 Slg g
(TYP) (TYP.) ERE \ SIE 62 g
- ——1 — | i i
I : B 7 g SR
_ J - IR
p—— . O O [a '\’
- - Y& _ cE 55 gl s
g é B = : ? g nx ol
FRAME | -3 DOOR SiLL = J SEE LATCH & 28| =£
(TYP) (TYP.) E DEADBOLT STRIKE SEE MULTIPOINT LOCK e | o4
- - — Pl k™ DETAIL STRIKE PLATE DETAIL I3 |5 S
i B ey ad (vp) RERE
X X0, OX (D)ourswne HINGE JAMB/MULLION - STRIKE JAMB/MULLION  STRIKE JAMB/MULLION R N
MULLION NSWING LATCH & DEADBOLT MULTIPOINT LOCK 2 o <
INTEGRAL MULLION ATTACHED TO 4" (TYP) L& \ 2 %
HEAD & SILL w/ {3) #10 X 3" FH \ 4 (TYP.) —— v E SIDELITE SiLL @ & o
COMPOSITE DECK SCREWS (TYP. ' TYP. \)
(e ‘ (?) DIRECTTO | E &
11 TR DIRECTTO MASONRY 2X BUCK
-l — MASONRY e
—\\ [ \ MASON 1X BUCK ﬁ@ \@ X BUCK e N
2X BUCK @ DIRECTTO 0
- (L)2xBuck - o Tl o 2X BUCK \ MASONRY "
Nl ROCKWELL MULTIPOINT LOCK HARDW, " %
AR o
o 1X BUCK o Hlo @ 3 ROCKWELL HARDWARE %)
— DIRECTTO _ ol
MASONRY | \ @ o2
HEAD & JAMBS DIRECTTO @’V
(TYP) HINGE DETAIL MASONRY 7 ——TOP PLATE
I~ o INSWING 1X BUCK e _ T i g
ourswinG (D ) = z
JE DRECTTO ~ 2XBUCK @ @< RRE
INSWING o - - 2 > MASONRY < |k
SIDELITE SILL -3 » 1X BUCK - BACK PLATE IRE
(TYP) DOOR SILL \ =BE
No (TYP) - e Ol oe— 2X BUCK 2X BUCK (25 =
| LilL1 = o N 2X BUCK ME oA 4,/20/22 |8
P o i 3 r
® o Hle \@ IXBUCK 1X BUCK )\@ scAle:  N.T.S. g
OXO DIRECTTO DIRECT TO . oW e RW @
KWIKSET HARDWARE SCHLAGE HARDWARE DRAWNG NO: o
HINGE DETAIL FL—41479.1 |a
FRAME ANCHORING NGE DET) HARDWARE DETAILS :
SHEET 12 oF 13 o




Z\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.1.dwg

BILL OF MATERIALS

ITEM # | DESCRIPTION MATERIAL
A 1XBUCK (G >=0.42) WOOD
B 2X BUCK (G >=0.42) WOOD
C 1/4" MAX. SHIM SPACE -

D 1/4" X 2-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL

E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F 1/4" X 3-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL

G 3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL

L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL

M 3/16" X 2-1/4" PFH ITW CONCRETE SCREW STEEL

P 1/4" X 2-1/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL

1 COMPOSITE JAMB COMP

3 COMPOSITE MULLION COMP/LVL
7 WEATHERSTRIP FOAM

8 SWEEP VINYL

9 4" X 4" HINGE STEEL

11 #9 X 3/4' PFH WOOD SCREW STEEL

12 LATCH STRIKE PLATE STEEL

13 DEADBOLT STRIKE PLATE STEEL
14 INSWING THRESHOLD ALUM/COMP
15 OUTSWING THRESHOLD ALUM/COMP
17 INSWING SIDELITE ADAPTER PVC

18 #8 X 3" SD TRIM SCREW STEEL
20 #9 X 1/2" PFH WOOD SCREW STEEL

21 #12 X 2-1/2" PFH WOOD SCREW STEEL
23 #8 X 3/4" PFH WOOD SCREW STEEL
25 #8 X 2-1/2" PFH WOOD SCREW STEEL
27 #7 X 1-5/8" DRYWALL SCREW STEEL
34 MULTIPOINT LOCK STRIKE PLATE STEEL
40 DOOR PANEL -
50 SIDELITE PANEL -

1.25"

0.75"

4.5¢"

1

1.44"

f— 213" —~

COMPOSITE JAMB

WORLDWIDE "4EVER"

0.5" —

-4—].5" —

3.5

LVL INSERT
/(0.65" X2.7)

25

- 1.3¢" l—**

@ COMPOSITE MULLION

5.62"

14 INSWING THRESHOLD

Columbia

17 INSWING SIDELITE SPACER
Columbia

244" ’T
|

- 1.38" -=|

2

46"

15 OUTSWING THRESHOLD

Columbia

CONCRETE ANCHOR NOTES:

. Concrete anchor table:

edge distance to mortar joinfs.

l‘-— 0.65"

. Concrete anchor locations at the comers may be adjusted to maintain the min.

. Concrete anchor locations noted as "MAX. ON CENTER” must be adjusted fo

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

CE | MIN. CLEARANCE]

TTW BUILDEX | 3/16" |

in
(2]
N
]
om
Z
_..__l,\
w.“—mn
®
E ¢own
Z 00
ST,
293
2 5o
W § 322
S ONE'Q
Oy
v O 0 xzp0
EEO) me
2 £o o c
o P
ol 6y 5224
ol ¢ moow
Sl
ISR B4 .
~1& ¢}
N §§
LIs 9,
818 su
S8 2
O
20 Y0
o < k=
g2 EBE
20l 53
L ald =g
B2l 53
_dlg e
L R O
‘-—
5 | ©
3 ]
S 2
[s 1 0.
>—
m
n
z
O
N
4
ot
<
o
o
il

DATE: 4/20/22

wood screws to prevent the splitting of wood.

TAPCON® [ Ty/8 118 > E:ZLBY N.T}:j‘./
DeWALT . ) " - . BY:
uLTRACON:| /4 1-1/4 1 4 ok B LFS
WOOD SCREW INSTALLATION NOTES: ' DRAWING NO.:
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of FL—-41479.1

SHEET 13 ofF 13

@ 2022 R.W. BUILDING CONSULTANTS ING.



